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First 15 minutes are allotted for the candi s to read the question

paper.
N
it wo fEg € | $

79 eI & & @US, |WUE - A - T |

qus - ¥ 1 3F 5 20 79 £ % ST Ao UHo Ao I UFH
WITE |

Ug - A F TAH ’&r&wwéﬁamm’mt{m Ao I THF W &t
m?{taﬁo mwmiﬁ%ws@aﬁﬁw@m

T & W@Hﬁﬁ%i

%so 3% & TS T € | 76 GOS8 § FUMIeh-1, JUAIHh-11
Wﬁﬁiﬂ'ﬁ%ﬁﬂm%l
J/UE - & § gt el & IR T G & R |
oo G T ST ST a9 S Y A B ST | ST T A # 3 W
g A F HIT |
&qnqqmﬁﬁaﬁmqﬁawa?mnmjﬂﬁwqmm%t
g wentodl & g AFf @ & ®H W 3 | T 9(A) TN 9(B)
fred & foe feg @ €1

{ Turn over



825(EZ) 5

Instructions : 2.

i) All questions are compulsory.

1i) This question paper has two Parts — Part-A4 and Part-B.

i)  Part-A consists of 20 multiple choice questions of one mark each that = 2.
have to be answered on OMR Answer Sheet.

iv) For Part-A read the question-wise instructions and mark your answer on .

the given OMR Answer Sheet only. Do not erase, cut or use whitener on . 3.

the OMR Answer Sheet after answering.
V) Marks of the questions are mentioned against them.
vi)  Part-B consists of descriptive type questions of 50 marks. "l_‘here are .
Descriptive-1, Descriptive-1l and two map related questionggll this part. 3
vii)  All the questions of Part-B are to be attempted all at a t@

viij  Start from the first question and go up to the last quegfion. Do not waste

your time on the question you cannot solve. 0’
1x) Attach firmly the supplied maps in your an ok .
X) For visually impaired examinees Questi . 9(A) and 9(B) have been 1
given separately for writing answers i f map work.
wUg
et
o )
(M hoice Type Questions )
frdw : A9 R T e 7o ¥ O fowen fgu o # | wE fawew g 39
OMR 3t W

Qternatives are given for each of the following questions.
se the correct alternative and mark on OMR answer sheet :

| aite ot ferems @ ey R cw e o 2
fs B) A

Instruction :

(A)
(C) W (D) =R 1
1. Otto von Bismarck was related to which country ?
(A) Britain (B) Germany
(D) Tltaly |

(C} France
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(A) 1814 (B) 1815

(C) 1816 (D) 1817 1
When was Napoleon Bonaparte defeated ?

(A) 1814 (B) 1815

(C) 1816 (D) 1817 1
et & @ @ e e o fawa & 2

(A) =R B) F

(C) & D) femn & 1
Which one of the following is a subject of Union List ?o

(A) Trade ' - (B) Agriculn@

(C) Defence (D) Ed&@ﬁ 1

w2 gg9 AW de FAfefaa o 9 wei fua

(A)  3ThIeHT (1\
() emf ~$ w1 § B 1
Where was Bretton Woods inst n situated ?

(A) Africa , $ (B) Europe
0 (D) None of these 1

(C) America

e e e SRR ST R e < e o 2

(A) rﬁmﬁgﬂ&;& (B) et MR foeren

(C) 3 ‘ (D) T T 1
Who sai araj is my birth right and I will have it” ?

(A) Gopal Krishna Gokhale (B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru (D) | Mahatma Gandhi 1
R & AR # AG FE 2

(A) 21 7 B) 18

) 20T o) 253 1
What is the age of voting right in India ?

(A) 21 years (B) 18 years

(C) 20 years (D) 25 years !
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7. it wRE sEe 3 sraenst @ s ¥ wiifs 0w
(A) @t arient d amee & agEn 2 2
(B) ®afes Y nfem &) agren 24 3
(C)  (A) 3R (B) 3
(D) 39 9§ 1 =& 1

Democratic administrative system is better than other administrative
systems, because it

(A)  Promotes equality among all citizens &
®) gni O

~J

Promotes dignity of the person

(C) Both (A) and (B) 0
(D) None of these 1
8. WA U HUW H W0 o g§ ot 2 ¢
(A) 1885
(C) 1857 @) 1855 1
8. When was Indian National Con established ?
(A) 1885 Q (B) 1904
1857 (D) 1855 1
9. a ° 3aiee wﬁm@ mT & ?
(B) WUy
© (A)am@;ﬂ D) T Q= A .
9. Who h uary powers in India ?
(A) (B) Union
(C) Both (A) and (B) (D)  None of these 1
10. WRdr d@fau wa @] e 2 |
(A) 15 TR (B) 14 311
(€ 10 AR (D) 26 TR
10. When was the Constitution of India enforced ?
(A) 15th August (B) 14th August

(C) 10th December (D) 26th January
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12.

13.

13.

14.

14.

13,

15.

S
TR W 6 T % e Pt ad ey & ’
(A)  TTSq

(B)  =nfeen
(C) UsTE (D) 3™ Wy
In which of the following states are the red soils found ?
(A)  Gujarat (B) Odisha
(C) Punjab (D)  Uttar Pradesh
Fefefaa ¥ @ ®9-a1 danm - ~JUEITT & 7
(A) e (B) Wiplas 1w
(C) Tad FHa (D) @S &
Which of the following resources is non-conventio
(A) Coal (B) Natu
(C) Wind energy : (D)  Mi oil
fFrfefaa & @ w9-w v seaEe &5 @

(A) e aﬁlﬁ
(C) dmeTg
Which of the following statcs&n producer of Bauxite ?

(A) Odisha (B) Punjab
(C) Tamil Nadu (D) Bihar
Frtiiar ww-apeffets aber b 2

(A) I IR 09 (B) T
(C) HTHN 6 ' (D) e
Whic@oﬂowing is metallic mineral ?

(A) stone (B) Sulphur
(C) Manganese (D) Coal
frefofiad o @ FF-T 99 GEEA T 2

(A) & (B) TeF T
(C) dmEr (D) TEH
Which of the following is a bio-resource ?

(A) Iron (B) Fisheries
(C) Copper (D) Rocks

hooo /44

825(EZ)

{ Tum over



825(EZ) 6

Frefotfaa o @ fvg e o Tam sifus sfaee F9 9E 7 @ B & 2

16.
&) frirm B) AT _
\ : 1
(C) & (D) T
16.  In which of the following states is the highest percentage of agricultural
land is under cultivation ?
(A) Mizoram (B) Manipur
(C) Kerala (D) Punjab 1
17. hmraﬁaaﬁﬁmm-ﬁwﬁfmmanmwmawh@z;mﬁwﬁa
fFar M g 7 00
(A) 33 (B) 43 00
(C) 23 (D) Q 1
17. Which one of the following percentage eographical area has been
determined by the National Forest PD@IQSQ ) ?
(A) 33 @ 43
O a !
18. 1 FH-H1 39 9NA 4 9T RafA § 2 o
(B) U=
(D)  EieArRS 1
18. Wwing countries is in better condition than India from
(B)  Nepal
(D) Bangladesh :
19, ﬁmﬁaﬁmnam-ﬁnﬁaﬁ:wﬁmm%m A E )
(A) @ (B) = &=y
() wEA famim Fererd
19 Which of the fol > |
. ich of t lowi iviti
- € lollowing activities comes under Pl‘imary sector 2
(A} Mining (B) ‘ ‘
T . Utensil Mmanufacturin :
(C) Building construction (D ) g j
) Talloring
03000/44 '
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7

JUNIHT RN stfufray o = o1

(A) 1990 (B) 1995
(C) 1896 (D) 1999
When was the Consumer Protection Act enacted ?
(A) 1990 (B) 1995
(C) 1896 (D) 1999
gug -
PART - B
( FUAETE - 1) o&
( Descriptive - 1 ) ()
( Pt vt % SR s e g0 vt AL R )
( Write answers of these questions in ab ords each. )
S @I ST % T6H HRO T € 2 \0
oS

THE TEAWE | ST T G ¢ 2 O

What were the main cause $ench Revolution ?
OR

What do you unders y Salt Satyagraha ?

o YT Q ST Tt & e foe 2 e & ferfg

S

N .

‘T Al Dt 3 &1 T Fu Y fad=gmr Sifw

How did gender discrimination affected political scenario ? Write briefly.

OR

“Power-sharing is the soul of democracy.” Discuss briefly.
Wit & W &1 faegr st

HGAT
vt s 3 Al % e F e S

;@000/44
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3. Discuss the mineral conservation.R
@) ' |
Discuss the importance of globalization in the economy of India. :
Vo i ) faed @ faee i
Agdar
ST i & el S R e P :

Discuss the characteristics of Jhum cultivation.

OR o& .

Analyse any four causes of consumers’ exploitation.

( Ui - 11) 9
i ( Descriptive - I1) 9®
( Fret Wl & IR WS A 15 T )
( Write answers of these qucstion@&out 150 words each. )
uﬁﬂamaﬁmﬂmwm@ ? 39 A<Ie H WIS W TH W@

ot fefe | \{‘Q 343

o\
meé&w%ﬁﬁ?wqﬁvﬁmmwl
0 11§+11§+1%+1%

What do yo erstand by Civil Disobedience Movement ? Give a brief
note on% itations of this movement. 3+3
OR

Mention any four results of global economic depression on Indian

economy. 13 + 13 + 13 + 11

“RET W T A S X1 T i F et ot et o seerm w1t

3+3
A4qqy

mﬁwwﬁmwm%?wmmwmw ~
¥ IFa wifg | %%';ﬁ:::ri
+2 ¢ ,
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“Indian Union is a quasi-federal structure.” Mention any two factors to

prove it. 3+3

L
OR
What do you understand by Democratic Reformation ? Mention any two

steps to be taken for this. 2+2+2

T I F F A5EE ¢ 2 79 IR & GEEE & H1E IR 37F gEE |

2 +4
#ﬂmﬁﬁmﬁﬁﬁmﬁ%?wﬁmﬁ&%ﬁﬁwm

e . 6@0

What is meant by soil erosion ? Sugg\t@y four measures to solve this

problem. 2+ 4

resource planning in Ingh 2+ 4

Why is resource plannin;$ssary ? Suggest any four measures for

Wﬁw@wwﬁﬁuﬁﬁmmm%?

C 2+4
0
A EFF F1 ¢ 2 TR favaasd Bt ween Hifg) 2+4
What is the concept of development ? Generally, which factors are
included in it ? 244
OR
What is tertiary sector ? Analyse its characteristics. 2+ 4

03000/44 [ Turn over
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fedr + e e 9(a) @1 9(B)
() and 9(B) are Tl

ey 7 @ Foret &I T R ey,

ated to map.
Instruction : Question Nos. 9

9(A].ﬁmfaiiaﬁmﬁw‘ﬂﬂﬁ$ﬁﬁﬂﬁ%@
. . [4 %:
) a@wmaﬁﬁqam,mgonmﬁﬁrr@umﬁyg@?l

ii) o8 T SRl SAferdmEre an s g3 | o 2 3

00
i) %Waﬁﬁmﬁﬁﬁmww

[ =]
[

-+ .
A

R
B | —

iv) Wﬁﬂ%%ﬁﬁ%ﬂﬁ#ﬂ@gﬁﬂ?mml Lyl
v) o W SR, 1929 H 9RdE HIUY HT AT FAT AT bl
9(A). In the given map of Indi e the following places by the symbol (®)

with names. For cor@enﬂon of name and location 1, Lmarks have
2" 2

been allotted. g
i) The pLaé ere
S

Indian National Congress held its session in

r, 1920. 1, 1
2 2
i) The place where Jallianwalg Bagh tragedy took place. 1y 1
2 2
i) The place where Mahatma Gandhi broke the Sajt Law. 141
2 2
iv) The place in Gujarat where
Peasants held theijr S

atyagrah
Movement. yRsTEna
LI
_ 2 2

v) The place where Indian Nationa] Congress helq its sess; '
year of 1920, €ssion in the
by !
2 2

03000/44
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' 9(B).

9(B).

o(A).

11 825(EZ)

%:mwm‘“*‘mﬁﬁnw@aaamm;

1) IW
ST B 7 (] e g m wfe 1y

2 2
ii) T T 10 &% @ foret g1 o et 2

i)

"RE & G T 9w wg v (ame) A foe g Aw e L L

iv
) SR [y et g A e Lyl
v BIETS # e R e fue g A od: 14!
Instruction : Show the following in the given ma@&ndia ;
1) One river of North India by symbol @h name. ; + ;
1i) One thermal power station by s P with name. ;_ + %
: 1,1
iiij  One seaport of eastern coa@y symbol A with name. 2t
iv)  Any tea producing éﬁy symbol [} with name. % + %
v) : The capital c&hhattisgarh by symbol ® with name. %+ %
( Onl sually impaired examinees in lieu of Map work )
ﬁi’ﬂ'. v & TR A SR-qRas § fefaw ) St S OwE |
T |
. fgae, 1ggoﬂmmmﬁmmwwgwm ? 1
i)
fpEiaTer A TS forg w9 g3 ? 1
ii)
e w3 frE WA W ARE HT A7 1

ii1)
Wﬁ%ﬂﬂﬂﬂﬂmwmm7 1

N =N e v avRrSrerT BT TOTT TTT TRIT ST D 1

iv) Wﬁ



. . . ' Stions - vo
YA). Instruction . Write the answers of the following question your

1)

11)

i)

answer-book. Do not use the map.
Where did the Indian National Congress hold 1ts session in

September, 1920 2

1

Where did the Jallianwala Bagh incident take place ? |
Where did Mahatma Gandhi break the Salt Law ? & !
Where did peasants hold their Satyagraha Mgvémtent in Gujarat ?
¢ |

Where did the Indian National Congr@d its session in 1929 ?

@0

9B). W : FfefaEs v % 3 T | fefge) gefay &1 gam 3

XA

%ﬂ‘fqmé?iqﬂmﬁﬁ'wmfaf@m

@%mmﬁaww(m)mww 1
I IR & foa e & A ffgn) 1

G i T & 9

9B). Instruction: Write the answers of the following questons n your

answer-book. Do not use the map.



